do
dsqrt{d
o

5 [pb,GeV
2

=
o
N

Ratio to ATLAS

0.5

AF A‘n‘\"“r“\‘—.\‘_&.
/ A
'Y .

Tha

1 10

2

10
sqrt{d_O} [GeV]

8000 GeV pp Z (Drell-Yan)
§| T TTI | I I T T TTT | I I T T TTT | I I T T T 5 9
— a5
- Splitting scale\/ dy (71 < m <111 GeV) 3
= 3=
— —JN
— — ol
— — A
— .. = __-
— o H,E—!mﬁ Rl - 39
- HW At:ﬂ 1 ‘_|
= M\r‘l@ =
B e =k
— aa [B) —_ >
s
— “Em ]
= IS _| = o
— ‘.\l Jm
- A}\. | g‘r')
= ) Ho
= A\ 18
— 1 -
| m ATLAS -z
= —— Pythia 8.308 default ElE
— Pythia 8.308 tune-1 g 15
= Pythia 8.308 tune-2c El=
— Pythia 8.308 tune-2m ] 8
)
= =
— o
— (&)
— S

N

3



	Contents
	Page 1


